&

o % £ 4 137 4a s Kok 30 % L M > R E
I ER KR @]Ng\a,i%ﬁw”qw&
%’kﬁ’;}i,ﬁ:arzoBOIﬁE’@ﬁ#%& R FREF 135
d "5‘_/’3“?%'35;{ 75 a3 @"’f#}i 17 5 > d é_‘:;:_/r‘{‘jrg‘ \f}?‘%‘?ﬁi:}igg#k

l{t??)\g&ﬁégi”\’ Iﬂiiﬁ*as;}rﬁzﬁb,ﬁ\ﬁi}'\ﬁ,{h‘ﬁ%\%,ﬁ? >
WAzsed ~ KA R B MR YR (Ao R R L X R
AHR)ERE RSN TREL 2109 # % 2 697 R B E AR AH
WEPRFE ~ 214 7O R AR R L R A R 18 FAEF R A TR
FAE AT Fa RMR PR SR S e e T d
B A3 R R Er FE R R FE Y 0109 £ F R E L LT
B g o COge -

AR SLPEEE Y Rt +ﬁ;/ﬁw%“ R
BB LR BRMAMAE ST 1R E PEE A A 220 . 109
LB 23 A ERM f’?ééi’f”“":ﬁ‘/?i Bk 2 RS B B3 T
w%‘r» d B A RS R R RR P AP
e N 12 R ‘E@/p /?4 A3 ks 14 PR PP E %I
IR T o TR 22804 A AR =2 692 4 s e
~ RGBSR R F g 1P R S A
Wi v % - #(105-109 &) g 41 P 5 7415 F § o
COze - iE#p A PR RSB 3 F W % Fp (M3t 1 108 &) a‘r"‘ﬁ% Ae R
Bt m g L R AR pART S Bty 0 Wk 105
108 & st g 5 5925 F § 2w CO.e0109 # X T+ £ & 5 W pr»
TAERMAoda s 109 & 2§ 5 1454 5 g o & COze> 105-109
£ 7 ;iﬁ*#”;c& 573797 5 o COer P HEEFRFS 367 F 2
v COze °

= HHER

A LA i&#ﬁ“‘]ﬂﬁ:%ﬁiﬁ w Mpt 4 A 0 105-109 # GDP =
£ 16% > AL o % B 529%(109 & g sk 8 E R 85%) 0 % A 3



B 2% T4 FRA A 0% B EFHERERS 1L3FH
2w COge (7 0.9%) o

i Py B A R %UBW&@ HWBEMPZPDIFOBE AR
ﬁﬂ%i%ﬁﬁﬁ Bl gpt o Wl s @ Bl e
+ =109 ﬁ#“f»g._ ¢ ‘%“l_m FOFL e kS T 64% 3 AL UE COge

(7 g R)P%xBEEETE 109 &g F 2R F e 12% 0 K
ﬂ’\@’@;j%&f"ﬂ o

BEMPRFFD e TR N R  ~Tdadrk* 5T~

EHTHREA L T MR xS e sk R R BT

EEITR AR TWRHREFE LI FFTRERLEHRATF v A ¥

Mo A e



